
























































HD1-1 100 300 9 116.5 0.43 13.0

HD1-2 100 300 9 114.0 0.42 13.0

HD1-3 100 300 9 116.5 0.43 13.0

L1-1 100 300 9 113.0 0.42 11.5

L1-2 100 300 9 113.0 0.42 11.5

L1-3 100 100 9 37.5 0.42 10.5

NB1-1 100 300 9 113.0 0.42 13.0

NB1-2 100 300 9 113.0 0.42 13.0

NB1-3 100 100 9 39.5 0.44 11.5

HD2-1 200 300 9 225.5 0.42 12.0

L2-1 200 300 9 225.5 0.42 13.5

12.0191.0TR1-1 0.42100 300 15

(kgf kgf/cm3 %

CLT

(cm (cm (cm

HD1-1 120 9 9 3.71 0.38 10.0

HD1-2 120 9 9 3.82 0.39 10.5

HD1-3 120 9 9 3.695 0.38 10.5

L1-1 120 9 9 4.06 0.42 10.5

L1-2 120 9 9 4.21 0.43 10.5

L1-3 120 9 9 4.25 0.44 10.5

11 9 15 0.615 0.41 15.0

72 9 15 3.95 0.41 15.5

11 9 15 0.59 0.40 10.5

NB1-1 9 9 170 5.955 0.43 10.5

NB1-2 9 9 170 5.845 0.42 10.0

NB1-3 9 9 170 5.95 0.43 10.5

HD2-1 9 9 220 7.75 0.43 11.5

L2-1 9 9 220 7.96 0.45 11.5

TR1-1

(cm (cm (kgf g/cm3 %(cm
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